
BowtieXPðRisk Management  

An Overview



cause 

control

BOWTIE ANALYSIS IN 8 STEPS

causeoutcometop

event
hazard

defeating 

factor defeating 

factor control

outcome 

control

2



BOWTIE ANALYSIS IN 8 STEPS

3. Cause 
(threat)

4. Outcome
(Conseq)

2. top

event
1. hazard

1:  òWhat are the 

hazards(activities)  we perform?

2:  òWhat occurswhen the control 

over the hazard is lost ðthe hazard 

is released?ó

3:   òWhat can directly cause a 

loss of control of the hazard?ó

4:  òWhat unwanted outcomes 

can arise from the top event?ò
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5:   òHow can we stop the 

hazard from being 

released?ó

Before After

6:   òHow can we reduce the 

severity (or likelihood) of 

the potential outcome?ó

7:  òIn what way could 

the controls fail?ó

8:   òHow do we 

maintain the controls 

so they do not fail?ó



BUILD BOWTIES TO YOUR TARGETAUDIENCE



CHOOSING A TOP EVENT



elimination prevention reduction mitigation

APPLIED HIERARCHY OF CONTROLS

E A A E E A E E A E A A

control ôobjectiveõ

control ômeansõ

which controls are the most critical?
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QUALITATIVE CONTROL EFFECTIVENESS

how effectively do controls work?
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